EHEER7 V7 — MER (ERME)
{EpE i1 EZERE FI Ob Cl Fg Hr Tp Tb TB Ti # Z DAt
49[q] IRYTR REME 1 & 40 2 2 2 2 4 3 3 1 1 3 CymTrg,BDHp
IRYTRX REME2F 45 2 2 2 2 3 3 1 1 1
TIby v F— REMEIF 77—, 5 2 2 2 2 4 3 3| - 11
Iy I F— REME S &H 80 2 2 2 2 4 3 3 1|11
N—hk—"J x> REMELF Edny 32 2 22 4 2 3 - 1 1 PicCfg
N—hk—"Tzv REE6HF "HE 45 2 2 2 2 4 2 2 - 1 1 Pic
72—ALR REME1&F 40 2 2 2 2 4 2 3 - 1 1 Cfg
T75—L2R REME 2 F 40 2 2 2 2 4 2 3 1 1 1
77—ALR REME 3 &HF 302 2 2 2 4 2 3 -1 Cfg
Ya—~NYV REME1HF & 352 2 22 4 2 3 - 1 2 Tg
LYIT ZF— Heh TRERDIR (U zILiR) 33 3 2 2 4 3 3 1 1 Pic(1),Enhr(1),BCI,Cfg,A.Sax,Cym,Trg,BD,SD,Hp2,Sus,Cym Xilo,Gloc, K Z #&(Es),AF, 5 F = v k,Cel
LAE—F O—< DMy 24 3 2 2 2 4 4 3 1 1 10 Pic(1),Ehr,BCICfg,Trp(/\> %), 2 —2')L6,Cym,Trg,BD,Hp,Sus-Cym,Tamb > F = v k, K 5 #Z Cel,Pf,Org
50[g] N—7— REME 4 F 56 4 3 3 3 4 3 - - 1 5 Pic(4),Ehr(2),BCI(1),Cfg(1),post-hr,EsCI(2) FTE 2R %
N—7— REME6HF "B, 80 4 4 3 4 8 6 4 1 2 7 PicEhrBCICfg,EsCl,Cym,Trg,BD,SD,Hp2, 8% A& H IR, KZ, I)L—F,/\>~<— & Cel2
N—7— REMFEOHF 75 4 4 3 4 4 3 3 1 2 5 PicEhr(1),BCIlCfg(1),EsCl,Cym,Trg,BD,SD,Hp,Sus-Cym.#E, K 7,3
RIS —2 REMEOE HHRLD, 42 2 2 2 2 4 2 3 1 1 2 Pic(l)Ehr(1),Cym,Trg
RILR b HHER T2, <&£F150F> 50 4 3 3 3 6 4 3 1 2 6 Pic(2),EhrBCICfg,BFI(1),BOb(1),Ten-Tub,Cym,Trg,BD,SD,Hp2,Sus-Cym,Tamb, K = 8, 8% K% Cel,Org
ZIoNZ/ 7T REME 2 &F 563 3 2 2 4 3 3 1 1 4 Pic(l)Ehr(1),BClL,CymBD,SD,#%ZE
XY=/ 7 RER S 3 2 2 2 2 4 3 3 1 1 6 PicEhrBClCfgA.Sax,Cym,Trg,BD,SD,Hp,Sus-Cym,Tamb,#Z K%, K 5, §#3 Pf
Ya—A~NI)Lk REMESHE - JL—h, 50 2 2 2 2 2 2 3 - |11
R¥akZ9oX TRHEDAE, 45 3 4 2 3 8 5|3 2 - Pic,Ehr(1),BCI,EsCI,Cym,BD,SD,Hp2,AX8%,5% (16,16,12,12,8)
NIV A—-X SIB R 50 2 2 2 4 4 2 3 2 2 Pic(1),Ehr(1),Crnt2,EsCI(1),banda-Ob,Cym,BD,SD,Hp2,#& (C,G),Timp4 A (3mov)
Ty o F— SEMETE (/I7— R 65 2 2 2 2 4 3 3 1 1 3 94F4—F2—/V4, CymTrg



